ApIE AVSR ouT IN GROSS HDGP NET

fs = EE 41 38 79 9.0 70.0
_,%1%"‘ Fad =T 40 39 719 8.0 /1.0
3L fHE BR 39 42 81 9.0 72.0
At BT B 39390 /8] 5.0/ /3.0
ofi HE 1R 40 41 81 8.0 73.0
_______ 6fif EK KRA 37 44 811 8.0 73.0
i |ER B 46/ 40 | 86 12.0 /4.0
8 KEF IEFE 43139 | 82 8.0 74.0
O ™ =ES 43 42 85 10.0 75.0
1042 s FOA 39 39 18 3.0 75.0
1L X BEZ 4540 85 9.0 76.0
250 AREP EEMD 43| 40 83 7.0 76.0
136 FZB 5iC 41400 81 5.0 76.0
1450 AT 5 43143 86 10.0/ 76.0
1517 28 #FO3E 42| 43 85 9.0/ /6.0




BH#H BYPSX T IN GROSS  HDCP NET

2 % P B 40| 45 8o 22.0 63.0
Ll ITH Ba 45 48 | 93 27.0 66.0
3 T OEE 4148 | 89 18.0 71.0
AMu B2lR BE® 50 44 | 94 22.0 72.0
ofi TN A 54 50 104 32.0 72.0
6L 1B (2 4645 91 19.0 72.0
L miam FA 42 471 | 89] 17.0/ 72.0
i Bk Kz 49 42 91] 18.0 73.0
Ofii RAN = 47| 43 90/ 17.0 73.0
1062 E{& {EfT 54 490 1103 29.0) /4.0
141 | TERA # 45 45 | 90 16.0 74.0
1260 ZFH {#7] 4346 89 15.0 74.0
13 PHE 1E 5347 100 25.0 75.0
1460 FFA Gl 53 530 106 31.0 75.0
19 Al = 45 45 90, 15.0 75.0




BHIFE LT14—R ouT N GROSS  HDCP NET
5cdr 431 11 6.00 /1.0

FrE 50 47 97 24.0 73.0

HE 40 41 81 1.0 74.0

41_L #lll B+ a4 42 | 86 11.0 75.0
ofii XKiE <HY 40 400 | 80/ 5.0 75.0
o6fi &= F 7 44 39 83 6.0 717.0
T 8K ME 4443 87 10.0 77.0
8L B KK 37| 42 79 2.0/ 77.0
OfiL T M 4540 | 85 7.0 78.0
10 §F JL= 40 46 86 8.0 78.0
1 s Y 40 47 87 9.0 78.0
1261 ™t FOfx 41 41 82 3.0 79.0
136 K EM-F 50 40/ | 99/ 19.0 80.0
1441 7K 3 (ES 44 47 91 11.0 80.0
156 | EH =& 47 48 95 14.0 81.0




